F£450

—E - PEVFY Y N-RD - )L2FRIRFAR

TAR HESBEXR
18148 ()
%ﬁ - X1y TSOVR
= A I B I ? I 1 I e I i
10 0010: 35 6HEE 6HEE 15%E 7 A5 15E 7 AE 14E 7 AE 15E 7 AE
1 ’ ’ BB Vs It mEl, vs 8 1OBE VS EHD-F FW VS 20BH ADBE VS BWAE FME VS SOBE
HEES 3 4 8 9 12 13
10 4511 - 20 6L 6L 15£ 7 A 16%£ 7 AH 1% 5 AH 1% 5 AH
2 ’ ’ 10BE vs B EHE VS 20BE 6OME Vs AR HE (F) VS TOlS =/ vs  dbH 2R Vs =0
HEES 5 6 14 15 1 2
11:30~12:05 6% 6FE TEE 7 AH) TEE 7 AH) 3EE 355
3 ’ ’ 3IOE vs Bt AT VS 4OBB SOME VS 90HE 12085 Vs 130K SPB Vs EHP - 28 vs  #8
HEES 11 12 27 28 6 7
12 151250 6HE 6HE 154£ 7 A 154£ 5 A 145%£ 5 AH A5%E
4 ’ ’ 30HBE VS 4DKE S5OHE VS 60HE 1408F Vs 1508 20OE Vs FRE 108E VS 20HE WEE  vs  AfE
HeES 23 24 29 3 5 1
130013 : 35 6EE 6EE A5E A5E A5%E 3EE
5 ) ’ Wl vs | FRE VS EE KFE VS SP® @|u  vs  EE FRE VS KA BBE VS TORS
HEES 7 8 2 3 4 11
13 4514 20 6HE G A5%E 45E 3FE 3FE
6 ’ ’ WEE VS KRR SPRE@ VS =57 VS RIMS=% KRB Vs = |l Vs XA BOWE VS TOBE
HeBS 9 10 5 6 5 17
14:30~15: 05 65% 6EE aFE AFE AFE TEE 50
7 ) ’ TOME Vs S80HKE 11088 vs 12085 10BE VS 2085 108E VS 2085 30OWE VS ADHE 3NHE VS SOBE
HEES 21 25 9 16 17 6
15 1515- 50 6HE 45E 3FE D
8 ’ ’ oMHBE VS 100HE S50OHE VS 60KE 50HE Vs 110KSE 3DOME VS ADHS
HeES 22 18 18 10
_ gL ®/L ®/L &L /L /L
By F@E
gL ®/L ®/L 3F-18DMF—L1 f!/L 1 E-6D@F—LAL
£ w FHIR




